Classification of numbers
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Classification of numbers:
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Further classification of numbers:

* Even (dH)

«  0dd (faww)

*  Prime (SIYTSY)

- Composite (Hgd)
 Co-Prime (9% 3HTY)

* Perfect (thpf) .

Twin Prime (S[&dl 3{HTA)
« Ramanujan RTHTIS)

D s



Even numbers (¥ IE0) :

Any number in the form of where n is an integer.
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Odd numbers (f[duH T=M0) :

Any number in the form of where n is an
integer. 2\




Prime numbers (3HTSd IS=10) :

A naltural number having exactly 2 factors.
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. L2‘='ls—§,ﬂi7{smé1Ilest prime numbef. 1303 3)536 37

- 2is only[even)prime number.

* All prime numbers (except 2 & 3) can be written in the
formor 6n + 5, where n is a natural number.

* (3,5,7) is only group of three primes, which are
consecutive odds. Py P p C,\
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Composite numbers (& =) :

A natural number having more than 2 factors.

* 1 is neither prime nor composite.




Co - prime numbers (8 - U HBAM) :

Numbers whose HCF is 1.

* Also called as Mutually prime or relatively prime.




Perfect numbers (F9gui/afkyol H=1M0)

A positive integer, whose sum of positive factors is
double of itself. 2%
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Twin Prime numbers (FSdl 3HYTST HBTU)

Two prime numbers with a difference of 2.

z 2 * 5is the only prime, which is in 2 twin prime pairs.
* Sum of twin prime numbers (except 3 & 5) is always
divisible by 12.
* Also called as Prime twin or Prime pairs.
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Ramanujan Number (RTHTISH 9&1) :
1729 = (1) +(12)°
- (2)+ O

alled as Taxicab / Hardy - Ramanujan number.
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Important Points:

Even + Even
Even + Odd

Even Even X Even = Even
odd Even x Odd = Even
O 0odd x 0dd = 0dd
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«  Sum of ‘n’ odd numbers is odd, if n is odd.
«  Sum of ‘n’ odd numbers is even, if n is even.
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|. How many non-negative integers are not more

than 40?
frast W womenE qUie wEwm 40 ¥
41

a) 39 b) 40 d) Infinite
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2 . How many whole numbers for ‘x’ satisfy the
inequality 2x + 7 < 39? .
IHEAAT 2x + 7 < 39 FT HJSC FI drad
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2. How many positive integers for ‘p’ satisfy
| the inequality3p + 5 < 33? .
a5 IWAAT 3p + 5 < 33 H FIC FA
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Y. How many positive even numbers are not

more than 82? ’
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a) 39 b) 40 vpﬂil d) 82
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5. Let §; be the set of all positive integers less

than 52 and S, be the set of all non-
negative integers not more than 81. Let
‘X’ be the number of elements in §; and ‘Y’
be the number of elements in S,. Find ¥ —
X?
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UATcH® QOIS § 9 S, T GOl HFeed

LN

¢ S ot @t IR HomeAs quife §
S 81 & 93 @@l ¥ IR WHe=A S; A
X §EAU g 9 S, ¥ Y &AW § ar

Y — X AT #:?
a) 29 b) 30 \,z(?d d) 32




6. What is smallest] six-digia number that can

759310 be formed using the digits 0(1)3,4,5,7?
dH 0,1,3,4,57 ¥ ¥ el FaA
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102487 a) 134570 103457
) " c) 175430 d) None
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7. If a & b are odd numbers, then which of the
following is even?
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8.Let a & b be even integers and ‘c’ be an

0 b C odd integer,whichofthgfollowingisodd?
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q. If x and y are natural numbers such that
e+6 = e x+y=2017, then what is the value of
0+0=2f” CD+ 17

- x y §II"=Fo|<=-|$ AEIAIT 59 YHR

e x+y %2017 g a (—1)*+ (-1)”
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€+0=0) v \}{0

a) 2 b) —2 d)1

odd
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0. If 2x + 3y is odd, which of the following
must be true?

$2x+3émﬁw%,a’rﬁm##
_ Od | He gm?
211@ 0dd

A x is even b) y is even
e Adol \)Qxisodd /’fyisodd
O+t€-=0
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